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Q.P. Code: 3342

( 3 Hours) * [ Total Marks :80

(1) Question No.1 is compulsory.

(2} Attempt any four out of the remaining questions.
(3) Assume suitable data in necessaty,

(4)  Figures to the right indicate ful} marks.

1. Attempt any four:-

2. (a)
(b)
3. (a)
(b)
4. (a)
(b)
5. (a)
()
6. (2)

(®)

JP-Con. 8650-15.

(a) Noise triangle #
(b) Difference in AM and FM

(c) TDM

(d) Types of noise

(¢) PCM modulation.

Explain super hetrodyne radio receiver with waveforms at every stage.

: | 10
A carrier wave Ve = 15sin (2rx 25 x 103%) i3 ampiitude modulated by an 10
audio signal Vm = 8sin (2 x 3 x 10%t). Modulates voltage i3 developed
across a 56 Q load.
(i) Write expression for.modulat=d wave.
(1) Determine modutzation index.
(111) Draw frequency spectrum.
(1v) Find total power and sidebuna power
(v) How much power is saves if SSB-5C is generated,
(vi) find B.W, :
Generate DSB-SC usinz balanced modulator with FET's 10
Generate SSB by phzsc shift method. 10
Explain indirect mzthod of FM generation. 10
Write about de’ta modulation and problems associated with it. 10
Explain Foster-Seeley detector for FIM, ‘
Explain WM modulation and demodulation with wavelonms. 19
16
Witte about BPSK, ASX and F8K.
cxplain low pass sampling theorem. | ig
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